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111 Semester B.Com. (NEP) Degree Examination December/January - 2024-25

FINANCIAL EDUCATION AND INVESTMENT AWARENESS (SEC)
(Repeater/Regular)

Time : 1 Hour Maximum Marks : 30

Instructions to Candidates:

1. Check for complete printing of 30 questions.

2. Thelast page of the question paper may be used for rough work.

3. Each question has four multiple choice answer and choose the correct one.

4. Darken the appropriate circle with ball ben’.

5. Damaging/overwriting using whitener on the OMR sheets are strictly prohibited.

6. No candidates will be allowed to leave the examination Hall till the end of the session
and without handing over his/her answer sheet to the invigilator.

7.  Candidates should ensure that the invigilator has verified all the entries and that the
invigilator has affixed his/her signature in the space provided on the OMR.

[P.T.O.
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Each question has Four multiple choice answers. Choose the correct.One.
Income tax in India is

A)  Direct tax B) Indirect tax

C) Surmplustax D) None ofthe above
pvplekiwid A Iwpleveleloly

A) e 301 B) E:deaeai 3on

C) @m0 30n D) 093 cdnyce ¥,

Which of the following is a characteristic of a good financial plan ?
A)  Flexibility to adjust with life changes

B) Itavoids risk completely

C) It focuses solely on Income generation

D) It focuses only on Investment.

FINTZHRYY, CINTT SV TESFHRD C3RERTO VT LTINS,

A)  Bemn VTR ERTROOR BRODBAT T, 3"

B) @ duuQ)chﬁ ROTPEIEION 3.»»3333

C) 2 smod emaaw:’)oja oed3 :mé ﬁeoa cFOROBT

D) 2t @zekiod =53 §eod), eﬁb»::%cﬁ

In which year was the RBI Act enacted

A) 1934 B) 1947
C) 1950 D) 1881
RBI %‘aoa)dobab odnm IR rd@ TONRAYIEDOW ?
A) 1934 B) 1947
C) 1950 D) 1881
IFS Code is digit code

A) 7 B)

C) 11 D) 16
IFS 8new® 90803 FoBe3waNGS.

A) 7 B) 9

Cc) 11 D) 16

The act of spreadm g your investments to various asset classes in order to reduce the exposure
level to any one is called

A) Divestment B) Diversification

C) Divisionoflabour D) Directional Trade

CIR0MeTte RT3 ab,m#p 3R SREW IR BRIFODT) VT GA INFnYnR OO
3,0300308) Sdo:bemmsa

A) oeoten B) 00,300

C) mFE0 yen D) o33 39,3090
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6.

10.

11.

Which of these rates are decided by RBI'? 4

A) Bank rate B) Reporate .
C) CRR D) All of these

QARNYS, cdnss Iond RBI QB OTTT.

A) 0% 30 B) d&pens

C) R.8T.&C. D) adump

Investment made in listed equity stock provide for

A) Better liquidity B) Guaranteed Capital appreciation
C) Safety of Capital D) All ofthe above

CIROEBOAT 5883 MWTNYY [RART BRATNA wENTIT.

A) QSR T, 5 3 B) WOBYT T3 37501), APSOTRIING.
0) uoc-sme;fd mdﬁé D) 03 2030

Greater the risk the expected returns

A)  Greater B) Lesser

C) Smaller D) None of these .

BU 50 NelsAliaplove :

A) =, B) 3&a

C) g D) oome e

What is the present value of Rs.10,000 due in 3 years at a 5% annual discount rate ?
A) Rs.9,000 B) Rs.8,638

C) Rs.7,500 : D) Rs.10,500

5% To&FE 00IROS TOTY,3 TRFAYEY, ISR Sre. 10,000 0 =3 BPY, )7
A) T»n.9,000 B) ©n.8,638

C) ©nr.7,500 - D) T».10,500

What is full form of NAV

A) NetAssessment Value B) National Asset Value

C) NetAsset Value D) National Asset Variation

NAV 03 ZpeaF TR 03RRI ?

A) DY BP,TRTI IR B) ooeadesy SR,

C) IIF LR TP, D) ocogeod e;m 3 33 x

How many companies are included in SENSEX of India.

A) 50 B) 30

C) 111 D) 21

72020 SENSEX 89, ) 30Tan¢m) 5e080ands 9
A) 50 B) 30

C) 111 D) 21

[P.T.O.
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12.  Which s full form of AMFI
,\) Avid Mutual Fund Investor B)  Association of Mutual Funds of India
C)  AdityaBirla Mutual Fund Inc D) Noncof'the above
AMFI o Fpeor ST 03n)Ed 9
A) BT [N, BT Jor* THRRFTT
B) AneaodiXst st s For ST Q0RIR
C) o0, woor RUNS Fow' Q0T
ON)

D) wRnvd cinmd se

13. KYC:means

A)  Know Your Customer B) Know Your Circle

C) Know Your Character D) None ofthe above

KYC 038

A) U TR,TITY, wmmv B) Q) moohad a@mm@v
C) Q=) 98,33 89000 D) R0cdz cdnme 8o

14.  The concept that money today is worth more than the same amount in the future is known as:

A) Risk Management B) Time Value of Money

C) Market Risk D) Discounted Cash flow

Q00T T YATT st BRTE0Z 523 BPY,0I0TFTNT H0w BOTVFT, oent
elevelSplvictas

A)  STHOD ARFHE B) @0 x@000E S,

0) avad:a% 5532030 D) 2033008 SN O

15. Whatis Mutual Fund ?
A) A government bond
B) - A pooled investment vehicle managed by professionals
C) A fixed deposit scheme
D) A loan offered by banks
2002, 0T Forw® QOTTEID ?
A) XFFD WooB’
B) 350000 Q8F ORI .00 oT808 BHWFOD IR0
C) A" gezed odnexs
D) (28 0BONED AETOT HO®

16. In 1955, Imperial Bank of India, a leading Commercial bank of that time was nationalised
and renamed as

A) Indian Bank B) Central Bank of India

C) BankoflIndia D) State Bank of India

1955 09 002c000T* 12,05° SF° QORAIR & DOT &,[ND 63w, w,05° BJY
Ty (BORNRATHLRONE W ~~~——=~ -~ Q0T FOTOTITOTTED SRTLROW.

A)  20BODT W, 0F B) oy 1,05 &' QoR0in

C) w08 B3 AcRWER D) #gtF 1,05 ST BORR

\

& Scanned with OKEN Scanner



(T (%) 20905/C9030

17.

18.

19.

20.

21.

Which scheme of mutual fund invests in the Units of other schemes of same mutual fund?
A)  Fundof funds B)  Exchange Traded Funds

C) BothA&B D) None ofthe above

R, T FOBT IV CAenEnRg PBRYE, $300,1308C° ForS InT odnend TReE
:SJ‘“D’J

A)  QNY AR B) Q585000 559,500 QN

C) A&B20@ER D) 0edT 03 e

RBI was established on

A) 1 April 1935 B) 1January 1935
C) 1July 1935 D) 1 September 1935
RBI a’mga’:’»oimdd%

A) 1 a2yee 1935 B) I ===0 1935

C) 1= 1935 D) 1 Z=owo 1935

Debenture holders of a company are its :

A)  Owners B) Creditors

C) Debtors D) Directors

FOTROD RW0IT* BROOTIS[IT) T3

A)  ZIDesdd B) momgch
C) ~oomddd D) Qder3sad

What is the full form of NEFT ?

A) National Electronic Folio Transfer =~ B)  National Equity Funds Transfer
C) National Electronic Funds Transfer D) National Easy Funds Transfer
NEFT S ©peas CRE O 2

A) D308 2SRRBFILR TRFSE B)  Togueod 3848 A IroFSE

&

C) To2e0d TFT)IB AR BFITH D) oo B0y 20 Smrss

Which was first Mutual Fund in India

A) UTIMutual fund B) HDFC Mutual Fund

C) SBIMutual Fund D) ICICI Prudential Mutual Fund
TROZEE BTV a:‘ufa B PO R0 ?

A) odoudn amzsmm S3jeley B) HDFC 533352335@ For*

C) 7 .20.%. 30,8030 For' D) ICICI @d@qo:b@f mﬁm;@ Jow

[P.T.O.
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2

23,

24,

[0
h

2.

. . ami mber increases
Risk appetite generally when the number of dependent family me

A) Increases

B) Decreases

Y _ _ _ , famil
C) There is no correlation between risk appetite and the number of depended y
members.

D) Doesnot change

QSRR .00 BILV0WE LTS ITE,T H0; BN ROE030T BT AT
A) T 103 a3

B) 3asocdnmiwd _

C) noz uzd B T 20T PLVOWT TOWS BHF;T S8 OdRE BOWOE ATRPOL,
D) wdwenahe, :

regulates the Mutual Fund Industry in India ) )
A) Reserve Bank of India B) Association of Mutual Funds in India.
C) Securities and Exchange Board of India D) State Bank of India
—————— PPRUZTE [0, 10T FOT© 0T [ P30S, RT3
A) OITF W, o5 tﬁﬁ Zolollovi
B) esERERODTTS P [P,V FOT e35° QOBO3R
C) R,0ux’ &2 aa‘ uo&'f BT F S QOROIRN
D) w&s‘ 0, 0%° eas‘ fao@om

Which of the following is a key benefit of life insurance.

A) It provides tax exemptions for the policyholders

B) It offers returns on Investment for policyholders

C) It provides financial security to dependents in Case of untimely death

D) Itacts as a retirement plan for policyholders

FYNTRYNYEA, CIRT)T0 23638 DD 30D T, 03ReBRTTONT.

A) @ TPOATITOR SOK &)moﬁaémi(\% udﬂwa’d

B) @ mo0m00nR R&FeD Hoed emoﬁoda’o QeRTT.

C) R 598 SO0MHE RoTPFEY, 9mwonBOn es&)rﬁ z:scs leves) uwﬁméd
D) Q&) OAmTON 53,8 Q3persEodnn mwrawr&o@:«id

Internet Banking refers to

A) Operation ofaccount through internet B) ~ Opening of account through ATM
C) BothA&B D) ,None ofthe above

DOLITFES LI, 08077 RRWRBT.

A) QOLIFFET ST 27303 TR TR

B) ©.:3.00. 3008 503 300300

C) 2TDDWITER

D) oeds cdnIuie SQ,
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28.

29.

30.
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26. 2

IPO Stands for (o

A)  Initial Public Offering B)  Indian Post Offering
C) Initial Private Offering D) Allofthe above

IPO Q0w3

A)  ©T0RT WIFERIT Z@n B) 03 @04 dnror
C) ©0oRs anzn 2nmn D) R0oedToem

ATM is used for

A)  Cash withdrawal B) Balance Enquiry

C) Statement of account D) All ofthe above

ATM O, WHROIMIT,

A) IR LomB1OE B) 3 Qw30

C)  andodh Bewz D) Seds amp
Systematic Risk is

A)  Avoidable B) Non-avoidable

C) Notsure D) BothA&B

a%zsasaé) TOOD

A) S&ixwaomﬁd B) 3Saroendmdy,

O) DWBTNE D) A&53)BaozEe

On which Commission's recommendations, RBI was established

A)  British Raj B) . Hilton Young Commission
C) Narasimham-II Committee - D) Chamberlain Commission
0303 e303RenT dz8RoNe Boees wc‘.w.woﬁs‘.&a FILATDONR ?

A) DT oo B) &' odon® sodeen
C) Soromo -II A0S D) wowders* esodnern

When you invest in equity shares on the stock exchange which of these markets are you
dealing with ?

A) Primary Market B) Secondary Market

C) Tertiary Market D) Commodity Market

Q) Redd QRROOD Fe0r, T, é&t}aﬁ ReTONYS) BRRE SRR, QNS ey a‘)zsdaa‘t)xbé (e¥in}
RR00BES SR ? ”

A)  T,BT m&a&i B) Q8eodd a‘uadaﬁ&%

C) Zdeod mmwg& D) =o® mms@%

[P.T.O.
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11T Semester B.Com. (NEP) Degree Examination December/January - 2024-25
ENTREPRENEURIAL SKILLS (OEC)
(Regular)

Time : 2 Hours Maximum Marks : 60

Instructions to Candidates:
1) Allthe Sections are Compulsory.
2)  Attempt all the questions as per internal choice.

SECTION - A

QN - D
Answer any FIVE of the following questions. (5%2=10)
B NS ewn ad TIren wwzdrd.

1. a) Define an Entrepreneur.

0TS =0T 553,85, 0D, VeRD.

b)  What is Enterprise Monitoring ?
5,0 20230 20TTesd 2

c) Expand (i) AIM (ii) SISI .
DIZOA (i) AIM (ii) SISI

d) What is Budget ?
T0ONA T3, 033 ?

e) Name any two functions of Regional Rural Banks.
2, Te8T M, Q0ed 23,088 A0RE> TADFNE 392D.

f)  What do you mean by Women Entrepreneurship ?
Dobovd YVTEOBe0I 20TTeRd 2

g) What is meaning of Entrepreneurship
T SoSe0ZoD BEFEed 7

[P.T.O.

J
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SECTION - B
APgon - W
Answer any THREE of the following questions. (3x5=15)
81 NI U Soedd JINeR v3DAD.

2. Discuss the different types of an Entrepreneur.
WG T,TONY emd_u,méwd 3030 W3W3FA0.
3. Explain the objectives of PMMY MUDRA LOAN.
PMMY 2003, 7000 ovies 8020 =030,
4.  Explain the different Government Schemes to promoting an Entrepreneur in India.
LROZEY, mwssbaﬁ#@( QU eRT) XOFT oﬁmmaﬁrﬁ#ﬁg‘ WDZORD.
5.  Explain the characteristics of a successful entrepreneur.
CIDTA, LV, TBeL T oD OFLINTTY TOAD.
6. Explain the functions of NSIC.
NSIC 5o0drneaE) HT[ORD.

SECTION - C
YN - A
Answer any TWO of the following questions. . (2x10=20)
3 NS Wewom o0 JIROR ev3020.

7.  What is District Industries Centre ? Explain its objectives.
2o §m0E Feol, Q0BT ? $TT QUEEINTYR) DmOAD.

8. Discuss the ways become a good entrepreneur.
GO YV 0CIRNOR WJezorom WRNFNE B0 R3FAD.

9.  Explain the day to day monitering - mechanism for maintaining an enterprise.
xofé)oiosﬂo_i TRTFFTN ITFLILO FFoNT DVRY, 5F0IOTReTT Todr 308, uﬁn

=0AD.

10. Discuss the successful stories of an entrepreneur while taken MUDRA Loan.

20T, MOTZ), IRT0BR0T 0PTUOINT YVT,TOSL BF B0 WAIFAD.
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SECTION - D
R - B
Case Study (Compulsory Questions) (1x15=15)
T,BO  BF,0H (B@o ot a;,{) ‘
11. Shri Abhi is a B.Com Graduate.Now he wants to start a business for himself

employment and he want a become a young entrepreneur. He needs RS.IO Lakhs loan
amount. He needs your advise. Advise him by answering the following questions.

1) He can get loan from PMMY MUDRA LOAN

2) Explain the which cetegory he can get MUDRA LOAN.

3)  Explain the application procedure.

3¢ &, 0.50. TRIFTTNT, N G[CO iy FOHO LUER,ENTN 2.0WD BBDITIE
T, 0O BT[TWO 030 GV, mée@mr?ﬁeéocﬁa wccbmaaﬁ eﬁaaﬁ oR. 10 Oﬁtﬁ =/

O WesaN3OTID. QY Nvoomc'\b B 39N I3, nen YU3T QBT RVT ”)e@ 920N
ROT QETWLIEB.

1) PMMY MUDRA 03pexs 32035030 &30 BOBSY TBOHWTITO.

2) o= odns SRFSY, OBDY TFEODWIR 0LOTF) SPAD.
3) eurod 3030008 D[ORD.
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IT1 Semester B.Com./B.B.A. (NEP) Degree Examination, December/January -2024-25
BASIC ENGLISH
Generic English - III (AECC)

(Regular/Repeater)
Time : 2 Hours Maximum Marks : 60
Text: Chandalika
. Answer any FIVE of the following questions in a sentence or two. (5%2=10)
1. Name the Chandal girl in ‘Chandalika’.
2. Whatdid Ananda ask Chandalika?
3. What changes did Prakruti’s mother notice in Prakruti after meeting Ananda?
4. What did Prakruti’s mother call ‘Act of madness’?
5. Where did Lord Buddha Preach King suprabhas in the play ‘Chandalika’?
6.  Whatis sin according to Ananda?
7. What does the monk teach Chandalika?
IL  Answer any TWO of the following in a moderate paragraph. (2%x5=10)

1. Sketch the Character of Ananda.

9

Conversation between Ananda and Prakruti.
3.  Chandalika’s mother.
IIL 1. Evaluate Rabindranath Tagore’s play ‘Chandalika’ as a Psychological drama.

(1x10=10)
(OR)
2. Sketch the Character of Prakruti.
IV.  Write short notes on any TWO of the following. (2x5=10)
1. Kiran Bedi’s Views on Visionary leadership.
2. Dr.B.R.Ambedkar’s address at Constituent Assembly.
3. Gandhi on his Quit India Speech.
4. Swami Vivekananda’s views on Hinduism.
[P.T.O.
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¥ L

2.

VL 1.

VIL 1.

o

VIIL 1.

o

Explain the Importance of presentation skills. (1x5=5)

(OR)

Organise a speech in a paragraph to present the following data about students and their
favorite hobbies collected after Surveying 100 students.

20
fDCndna

Lo

ﬂavqﬂr‘ng

(OR)

What is body language? Explain.

Explain the qualities of Good writing. . (1x5=5)
(OR)

Write a reflective essay on your experience after attending job interview.
(OR)

Write an essay on “My role model”.

Write a letter of enquiry about seeking admission to M.Com course in a prestigious

college. (1x5=5)
(OR)

Prepare a resume for the post of Sales executive in marketing field.
(OR)

Write a letter of application for the post of accountant in Sairam Finance limited,
Belagavi.
Draft an advertisement copy of an electric car highlighting its features. ~ (1x5=5)
(OR)
Prepare a poster on ‘Cultural Fest’ to be held in your college this month.
(OR)
Prepare a brochure for One-day workshop for students on communication skills.
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111 Semester B.Com. (NEP) l)egi'cc Examination,

December/January - 2024-25
COMMERCE
Cost Accounting (DSC)
(Regular/Repeater)

2 Hours

Instructions to Candidates: .
1. Attempt All the Sections according to internal choice.

€038 GOSNSIMILRTN DY, DYONNITY &UZ OAD.
2. Use simple non-programming calculator.
X0 P,eM,O00TF 803 59,00e0R), WIYRWBIWY.

3. Section-D case study is compulsory.

Maximum Marks : 60

2N - B B,IO e;eqsgozbz 553%0&)@37\53.

SECTION - A
PN - &3

Answer any Five of the following.
FINSINGD,  Wezor z)533° V30RO,

a)

b)

c)

d

g)

What do you mean by cost accounting ?
aszs’aa I0 OTFES) SRA0.

What 1s Indirect Materlal Cost ? lee two examples.
TAReE, TN 3, 0BT ? AV VBT JeB.

What is idel time ?

QT odeewE Sey Q0WTERD ?

What is overhead cost ?

ST 0BT ?

Define reconciliation statement.
ROTOD e, 339,259, I0.

State main components of prime cost.
&, 00 dzgdd S0, PLBNFSY, 39R0.
What is EOQ ?

EOQ ~omtesd ?

(5%2=10)

[P.T.O.
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SECTION - B
gen - W
Answer any Three of the following. (3%5=15)
FINIYINGE, Weww mcaﬂ VB ORD.
2. Write the distinction between financial accounting and cost accounting.
BEOTRT SBTR, =B P, SZTRT RIS wzjmﬁxﬁ%}a’% W30W0.
3. Calculate ‘Material Turnover Ratio’ from the below
a) Opening stock Rs.50,000
b) Closing stock Rs.30,000
¢) Purchases during the year Rs.3,80,000
2 9NE BHkc0s RN, BOT RACHR, ToRELRD.
a) @00y dw), TA. 50,000
b) ©03=> d) gn. 30,000

c) &oed de. 3,80,000

4. Rahul industry produced 1200 units of a commodity in the month of August 2024.
Its cost details are as foHows: .

Materials consurr_led Rs.40,000

Productive wages Rs.16,000

Direct expenses Rs.4,000 ,

Factory cost charged at 40% of direct wages administrative expenses Rs.600.

The proprietor: expects 20% profit on selling price. |

Prepare a cost sheet showing selling pﬁce and total profit.

ORI BUT, R e 2024 T, 1200 0303 ROBONE GV DA, STalofiu fa
DTTRLD B3 FPNTOES.

=gzonsh de. 40,000

Spcplaly Se33 de. 16,000

S0 S, ae. 4000 |

360 SeIRT 40% T30 H, GBS [, Te. 600 InoELT BSe 20% TWTY
SRIF3 DDFETT. Fnoous Y T W), SRAARSIICTON L N T T3 oY
{ovhpla)d :
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5. The following information relating to Akash Ltd. Calculate Mechine hour rate from
the following

Cost of machine - Rs.58,000

Scrap value - Rs.8000

Repair charges per month - Rs.400

Standing charges allocated to the machine per month Rs.140
Effective working time of machine - 10,000 hours

Running time per month - 200 hours

Power used by the machine is 6 units per hour at Rs.5 per unit.
FINT SnWI0ID ©T8 AW FoTIR FowoRRT. 03T [,@ notdod BTEIY
F0TOLEOUWD. .

03T =Pe, - de. 58,000

003,53 HVPF [IPY, - Tr.8000

SR8 TO0Y P, - 8R.400

=® AT Snsh - de.140
- 008, F0DFARFLROT noednsd - 10,000 (Life time)

onont WPOFoDYTT TToD - 200 FoRInd. .

DOGRE F3, 20w RO8IR 6 CIVVEFTED 0T IV TR, 5

6. From the followmg information calculate the earnings of workers Ajay ‘and Vijay
under Taylors differentiation piece system

Normal rate per hour - Rs.2
Standard time per piece - 20 minutes
Differential piece rates  : 80% of piece rate below standard
: 120% of piece rate above standard
In a day of 8 hours Ajay produces 20 pieces and Vijay produces 34 pieces.

5 9N axdﬁ@od aéecf 533D~ oﬁfaeuﬂo:b@ojo@ BRI [ DwodF t‘amﬁd
rie:)ﬁcmab FoRHROWD.

nodn TN, WY - de. 2
;3 TROT TIREE JAZ0D - 20 AT
o, AMY 2ead8) TO P TR e308 3@E0 80% 2By ©T
D DBRegoZ T, 120% 2deddd T3

.00 OFBY, 8 mowdnen ©wodr 20 rwBnYEy OIS SR dwodr 34
BN VORI,

‘,,U.

[P.T.O.
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SECTION - C
WP - T -
Answer any Two of the following. (2%10=20)
svnaq)m:o odny)Ie R0BE  YLZOAD.

7. From the following mformatlon prepare a stores ledger under FIFO method October
2024

I October Opening stock 300 units at Rs.25 per unit
2" October Issued 200 units

4™ October Purchased 400 units at Rs.26 per unit .
7™ October Issued 300 units

9" October Issued 200 units

12" October Purchased 500 units at Rs.28 per unit
16" October Issued 350 units

20™ October Returned to stores 50 units issued on 16" Oct.
24" October Purchased 400 units at 29 per umt

30" October Issued 200 units

31" October Issued 50 units

3 FYNT SR&ENYos FIFO wcgpéosoq A0B mé&bgbq S0IR0OAD. &BREIT® - 2024
SEREWT* 1 $T0RE e 300 cOIEFRD B8 ARVIEFR T, 25 Tod
©BRLVT® 2 BREE) 200 O30REFTL
©BRT* 4 00D 400 oXVREFTID T, 26 T8 odaa&wfﬁ
BT 7 8L 300 odwaéa‘ﬁ%
BT 9 BRETD 200 ol R B
©8Re0° 12 00D 500 cdoREFRD T, 28 T8 cdoRLrr
eBREWTT 16 FRLT 350 CXVVEF
| elamnt 20 8RRt 16 Jomd 86k, SO RIFTYR) TP THTAN 3RS,
BT 24 DD 400 0O/ TR. 29 =3 030N
&8Rw0° 30 Frwrd 200 030N
BT 3] B3 50 cdodET R
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Aama Company Limited provides the following information relating to production of

Radios during the year 2024,

1.

oo

Direct materials Rs.52,00,000
Direct wages Rs.42,50,000
Factory overheads Rs.9,72,000
Administrative overheads Rs.6,72,000

1,000 Radios were manufactured and sold at Rs.14,500 each during the year
2024.

For the year 2025 it is estimated that :

a)
b)

c)

Each Radio will require materials of Rs.4000 and direct wages Rs.4,200
Factory overheads are charged as a percentage of direct wages.
Administrative overheads are charged as a percentage of works cost

Prepare a statement and show a profit to be made per unit if the selling price

of each Radio is going to be reduced by Rs.1,000. Estimated production in
2025 is 1200 Radios.

HSToF 3oL DI 2024 Fe AT TeRodee wqdéﬁ BoWORAT R[S0

FYNT03T. :

1 360 RTBONED 8n.52,00,000

2. 30 3RORW 5.42,50,000

3. B &e%zsbrﬁm 38%.9,72,000

4 eﬁd@@%ﬁ a"owwrr{% - 8n.6,72,000

5. 2024 3¢ O3 1,000 Se@odpendsy 303mda Te. 14,500 3 B8 SeRO3RENTS)

=003 INBEEINT.

2025 3¢ TOR 85 FINIYNES) €30T393RTNT.

a)
b)

c)

- B, Cerodees ITBOND 3. 4,000 =3 Se3 2 dn. 4,200 BewrdZT.

TARFS FEE FEET0 TTNOTY, SBISFF SoeQIDFNTRY DRRTING.
oamF s BoeeprndR) 3ed 8pdad Fedmometd T,BRCY, AORMSH.

3,8 Semodpe Inoow BSadn Se. 1,000 N, IRZAIRTTS, Td o0 R
IRBBET CAPIITY, Te, IRB.

2025 09, oo TS 1,200 SeR03REN

[P.T.O.
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9.

10.

The following information relates to Kumar Ltd. manufacturing operations overheads
as per primary distribution summary

Production Department Service Department
Department Overhead Department Overhead

A - Rs.8,550 X - Rs.5,625

B - Rs.8,200 Y - Rs.1,575

C - Rs.9,650
The service department overheads are charged on percentage basis as given below.
Department A B C X Y

X 20% 30% 40% -- 10%

Y 40% 20% 30% 10% --

Prepare secondary distribution summary under simultaneous equation method.
B BYNT QJTMLL BIRT OsIEs YUIITTD WROTWINYR RowoHT. ﬁoewiﬁzﬂej
2, JENT TOWFOD T0INY DTT.

IVTT AN : RO VIINNL
QNN Soeen a”szif;b ' QYRNNTY  Foeen Se3isd

A - -Rs.8,550 ) X - Rs.5,625

B - Rs.8,200 ~ Y - Rs.1575

C - Rs.9,650 |
XeTD NE Soeen ﬁasJWm ez SFBOODY & FPNT0Z SFORRMOTT.
QWNANGY A B C X Y
X 20% 30% 40% = 10%

Y 40% 20% 30% C10% -

DFEIF 00 TS IO Femd RARY Foeen TYFLH DD Towd InaD.
Prepare the slatement of reconciliation from the followmg dala

Rs.
a) Net profit as per cost accounts 30,000
b)  Works overhead charged in financial accounts 4,200
c) Works overhead charged in cost accounts 5,100
d) Income tax provided in financial accounts 9,000
€) Value of closing stock in cost accounts 2.800
)  Value of closing stock in financial accounts 3,100
g) Provision for doubtful debts 3,000
h)  Dividend on investments not included in cost accounts - 600
1) Preliminary expenses written off 1,300
j)  Stores adjustment credited in financial books 150

& Scanned with OKEN Scanner
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83 8YNT BWBOT BZTH Te,303 ), 3O3R0V
on.
a) Sy, c.?ﬁod ,mw ool 30,000 .
b) TEEAT SEEY BeipinvE) SBR0NEY 4,200
c) Y, C80 DeSPRYR) TRROLE 5,100
~ 2
d)  ewAs S859 smoah 3oremy Sre0AT 9,000
e) ms; sbid =,520 908 z}wo 2,800
Tewis d83n S50 voim 3w 3,100
g) =oToindE mud Hed IR00IT A 3,000
h) i <839 Romowas @G S0i08 wsmod ERRMHDY, 600
) IR SRR sRinvInd 1,300
) T eiaad*mm TR WROTESE °":;>) BIN SNS 150
SECTION - D
N - B
Case Study (Compulsory) ' (1x15=15)

11.

T,500 esqréo:ba' (5:33001))

The following are the particulars given to you:
Standard time : 10 hours '
Time rate : Rs.15 per hour

Time taken by workers :

A - 8 hours
B - 6 hours
C - 5 hours
D - 4 hours
E - 3 hours

You are required to :-

a) Prepare comparative statement earnings under Halsey and Rowan Bonus Plan.
b) Suggest the bonous scheme suitable from the point of management and workers.

YN ;ﬁﬁ&osaﬂm& SoR WBNTRNS.
:b:réq)a' Zed ¢ 10 notdnsd
Sed ©o @ de. 15 T8 moedr

o

- |P.T.O.
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Reg. No.

111 Semester B.Com. (NEP) Degree Examination, December/January - 2024-25
Corporate Accounting - |

(Regular)
Time : 2 Hours Maximum Marks : 60

Instructions to Candidates: _
I.  Attempt All Sections according to Internal Choice.

2. Simple and Non-programmable calculator are allowed.
3. Section-D case study is compulsory.

SECTION - A
AN - O
. Answer any Five of the following. (5%2=10)

& 9NT Urms 20F wp30R0.
1. a) What is firm underwriting ?
FOBOH UM BROBIBAWT W oT Q0T3E ?
b)  Write two features of goodwill.
363F TRO,T 20D VT WD,
c) How do you allocate the following expenses in calculating profit prior to
incorporating
1)  Director fees
ii)) Formation expenses

FoTR0D MARVTE JIeTw [ JoITT woyg FordBeYed 1 IWNT
DOFRFI Teri Boedd3ed.

1) JTeFTs e
i) gsozoH m@dﬂo:b 34,
d) What is sales ratio ?
IR0 ST 0BT ?
e) What is capital employed in the business ?
T, TT0TY, BRARFCD WeRTY 2053 2

[P.T.O.
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N Write any two factors affecting the value of share.
S0 TR0, Doed TomsH WdI 283D LoBNY), TevO.
g)  Write any two objectives of financial statements.

Ay = —dd By = Ay pwd D oo
DTy ;..%)E.».u KO BT eSO,
Q

SECTION - B
QPN - W
I Answer any Three of the following. (3x5=15)
B ¥9NS demd ToATTY  wuIoRD.

2. Kala Ltd. issued 20,000 shares of Rs.10 each at par which were under written
as follows:

X - 10,000 Y - 6,000 Z - 4,000 shares

Applications were received for 18,000 shares which included marketed
applications as: "X - 4,000 shares Y - 2,000 shares Z - 10,000 shares

You are required to prepare a statement showing how many more shares the
underwriters will have to take to fullfil their obligations.

TR 0. 10 on. =D PSad 20,000 836371#53‘ [0 USR WENE [RAB
e2nv, X-10,000 Y - 6,000 Z - 4,000 3@63?1#&{.3‘ To3% TRODWT. BTN
w2 18,000 e22rnvh wohm) emtd X - 4,000, Y - 2,000, Z - 10,000 S¢onsd
TOWD Teodd. TmEs JE iR BT MSRmTs A3y TREOTO)
EQA0.

3. The following particulars are available from the books of the business of a
trader.

a)  Capital invested Rs.4,00,000

b)  Date of risk on capital employed 2%

¢) Normal market rate on investment 9%

d) Trading profits for the past 5 years:
First year Rs.52,000, Second year Rs.55,000
Third year Rs.58,000, Fourth year Rs.61,000
Fifih year Rs.64,000

Calculate the value of goodwill of the business on the basis of 4 years purchase
of annual super profits.

(} Scanned with OKEN Scanner
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Wy, 539, 00 B,[TIVE BRLS0I0 B85 PNT03T.
a)  TRRD woawy 4,00,000

b) woRimyY BRRED ewcd BT 2%

c) SRoHEiobd TRROD RN, TS 9%

d) W8 5 S[AFAY T,T0T vyl Becode SITE 52,000, 0B S[WE
55,000, Rw0ze ==Re 58,000, meﬁoﬂa @IRF 61,000,

RTJe0dH  JIE SR. 64,000
PAFE  RRTCT  AEE 4 B[RFAY DOeOOH  SGRTT 2oee
BRTICT WRPRPITE  BPOBIY Srmos.

4. Calculate Net Asset Value (NAV) per share from the following:

Rs.

Market value of assets 29,50,000

External liabilities: | |

a)  10% debentures 5,00,000

b) Creditors 5,00,000

Number of equity shares 20,000

597 Sk, TGBA0T AIP B BSAL, TS FEOR F0BRRAD.
on.

RBRodse, B 33 29,50,000

WO, BRBMDT

a) 10% Do, 5,00,000

b) TREBMECT 5,00,000

TRTIT, BETONG W), 20,000 QTR

[P.T.O.
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What is time ratio in profit prior to incorporation ? Give five examples.

SV SRS 2000 2 Bed B0 BE0E Boed BowE BRRT BYYEY

Prepare a statement of profit & loss as per Part-II of revised Schedule-VI.

a)  Revenue from operation Rs.20,00,000
b)  Other Income Rs.2,00,000
c) Cost of materials consumed Rs.15,00,000
d)  Employee benefit examples Rs.3,20,000
¢) Tax expenses ' Rs.1,80,000

]

T VNS TRLSoWoT c:aa_d%ﬁu DEIODI, TN I1 aicmzse;‘ - VI T &,%0

[X] <L

S03R0A0.

)  BTT0 WLBUWERLoE wmead  Rs.20,00,000

b) @RI smeod Rs.2,00,000
c) ety Som, AOWAY womedR  Rs.15,00,000
d) 990 wees IR Rs.3,20,000
e) 30K Sgid Rs.1,80,000
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SECTION - C
NP - g
Il Answer any Two of the following. (2x10=20)
& TYNS T Q0B «u3dR0.
7. Ambika Co. Ltd. was incorporated as on 1-4-2023 to take over the business of

Arvind Co. Ltd. as from 1-1-2023. Balances extracted for the year endmg
31-12-2023 were as follows.

Particulars Rs.
Gross Profit 1,40,000
Expenses: .
Salaries and wages 72,000
Rent and rates 3,600
Office expenses 24,000
Commission on sales 16,000
Advertisement _ 4,000
Audit fees 2,000
Depreciation 8,000
Interest on debentures 6,000
Directors fees 4,000
Printing and Stationery ‘ 4,800
Bad debts 1,600
Net loss (expenses-gross profit) 1,46,000

-6000

Additional information: ,
‘ a) Sales for the first three months amounted to Rs.80,000 and Rs.1,20,000
for the next nine months.
b) Rent was paid Rs.100 per month upto 30 June 2023 and there after if

increase to Rs.300 per month.
¢) Bad debts include Rs.400 up to 31.3.2023

Prepare statement showing profit or loss prior to an after incorporation.

|PT.O.
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BRR DI ToRw

OTZNY edT W

NTeFTEC 53:;

TG, 0 ) XTI [
- el 3
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C=(A-B) 3¢ =2

TPTT dESNsh

(0)

5008 1-4-2023 00T DA

X
] O IS dndod doonsh 83 39NT033.

<]

[+¥]

0§ =2

sa’.ra:g

1,40,000

72,000
3,600
24,000
16,000
4,000
2,000
8,000
6,000

48081

VLI 1P HONOTIT BTN

=

-1-2023 TomH ©TT 3, TR0EE), 2DOeHAT DT

('_

4,000

4,800
1,600
1,46,000
-6000

a) HO0PT JIRDO [ Sony INoWT Wi WS de. 80,000 <D oo

9 Son¢ IRoE FeT dn. 1,20,000

b) 30 meT 2023 © =6R I8 Sond war dr. 100 2. STROIT B,8 3one

welnodo 300 dn. SNB.

c) Omeo0s 31.3.2023 éﬂmonm WINPT 3?,3; an. 400.

DT ATCERL0T FoTAOD mwﬁo:b wpam@ aaso NO3TT) INRT
ERYETT Tos 31313 FOT) ao&owod *’Jmﬁo 3m0~®
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8. The following particulars are available in respect of the business carried on by
a trader

a)  Profit camned for the following three (3) year

2021 = Rs.44,000
2022 = Rs.58,000
2023 = Rs.48,000

b) The normal Rate of Return is 10%

c) Average Capital Employed in the Business Rs.3,00,000

d) Present value of annuty of Rs.1 to 5 year @ 10% is Rs.3.78

¢) The profit included non-recurring profit on an average basis Rs.6,000

You are required to calculate the value of goodwill of the business on the
basis of

i)  Five year purchase of super profit
ii)  Annuity method of valuation
iii) Capitalization of super profit

B3 BN BRWI0D 9,700 BRWRT ;T0FS 3,30 BOLOTITEIT.
a) R0 TARFMPY PUNRT QDZT
2021 = Rs.44,000
2022 = Rs.58,000
2023 = Rs.48,000
b) =R, ISFow =T 10%
c) mdmdde;, THBE SNBT TR0 ROV WorE=s 3,00,000

d) STBFSRST AT P, Te. 18 5 IRENPR 10% Tog 3.78 and3a.

e) Wi PBE), TOIT BH PYITIRVSFITIQYE T3y FTIRO BTTT Soeed
g, 6,000 eRROBCIZE.

$9NT DLOFINY SHR0T Fed TR BT, FORELROWD.
i) 5 ITFRY D0eHOD BRTT® eRPNT S0 &oed
i)  RAFE IPY,TNRTI aic;ﬁ%

ili) ZARTC* YT WoBRZPETTED

[P.T.O.

\
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9. From the follwing information relating to Zenith Co Ltd., Calculate the fair

value of equity shares.

Balance Sheet as at 31-3-2024

Particulars Note Amount
I. Equity and liabilities:

Shareholders funds:

Share capital (20,000 shares of Rs.10 each) - 2,00,000
Reserves and surplus - 40,000
Current liabilities - 60,000
Total 3,00,000

I Assets :

Non-current assets:

Tangible fixed assets - 2,00,000
Current assets - 1,00,000
Total ' 3,00,000

For the purpose of valuation, goodwill. Fixed assets and current assets were
valued at Rs.30,000 and Rs.2,70,000 and Rs.80,000 respectively. The average
profit on the basis of profits of the last four years was Rs.60,000. The company
transfer 25% of the profits to general reserve every year. The market yield of

a similar type of share is 15%.

& Scanned with OKEN Scanner
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5038) CJMmsd,\)d) ﬁg ﬁJf‘ ] vm&)gg..o JJ 3“‘0 50,.):,)?‘\ rJO?.JOC)Nva
WEMBITT. 8T8 ATohhes Zomaod fair mdrkct value of shares &9,0320233
ORRT, 505 :LDUJB’&CL 33;\'%:")3‘2( 20@20a010.

SRS TR, Jodnors Omeod  31-3-2024
D[N Jpees oR.
I. 7@5533?55 Jedonsh O\ 2;1532?%57-\’%1‘)
ZeCOTTT QN

Jedd womEme¥ (20,000 RBRT, JND Td

W3S Tn.10003) - 2,00,000
AT IS SR plove - | 40,000 |
w00 IR ONWD . 60,000
283, 3,00,000
I esaned |

0 B SRR

e HTIRTIV I - 2,00,000
WO SR - 1,00,000
2083 3,00,000

),

Sedonemy SPe, SRR ARES (HEN0E SFERY, 4Ty B WY
NIy 1 068 TPY, INTI IRBeRN 3e3FRPY, de. 30,000 ATIATIW
gr. 2,70,000 =23 159 70 8R. 80,000 2008 HoW) TTT YT,
0o Boemd woray 8R.60,000 DI, FOTIID T3 FAF ST Jesm
25% Co3 MRRT, PN SFOVROPR TRICBRNG. 2Te F,5T 339,57

IRER FoIIOD 3¢03 mmﬁﬁo‘b ©,950 3@ 15% adea.

[P.T.O.

)
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10, a)  From the lollowing information furnished by Amogh & Co. Ltd. Prepare note to
tangible fixed assets as prescribed under schedule 111 of Companies Act
2013 '

1) Opening balances on 1-4-2023: Rs.
1) Land (at cost) 60,00,000
1) Building (at cost) 72,00,000
i) Plant and machinery (at cost) 24,00,000
iv)  Fumiture and fixtures (at cost) 4,80,000
2)  Depreciation provided upto 31-3-2024
i) Buildings , 24,00,000
i) Plant and machinery ' 6,00,000
i) Furniture and fixtures _ 2,40,000
3)  Additions on 1-4-2023:
Plant and Machinery 1,00,000
furnitures and fixtures 1,20,000

Provide depreciation on building at 5% on plant and machinery at 10% and

on furniture and fixtures at 10% methods of depreciation adopted
diminishing balance method.

b) -

Following is the information furnished by Sai and Co. prepare note to
intangible fixed assets as prescribed under schedule I of the Act. 2013

Rs.
1) Goodwill (at cost) 1,75,000
i)  Brands and trade marks (at cost) 50,000

Depreciation written off upto the last year on this asset 20,000

Depreciation for the year 5,000

60,000
Depreciation written off upto the last year on this assets 10,000

Depreciation for the year

ii1) Patents and copy rights

4,000

iv)  Computer software (at cost) 8,00,000
Depreciation written off upto the last year 5,00,000
Depreciation for the year 1,25,000

& Scanned with OKEN Scanner
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i ﬂfg 2013 wua T 8 B350 asson. Sntkdod
PO 2233 ;wa\”d)-ho =
0OZ08 1-4-2023 5 Yy BT0E deu;
) PR (Rno 13
i) 3R (Sowe 3
O o )
.“) TET W wvl’;:wadtzm‘o (o B)
IV)  QBRTECRY) (
Q08 31-3-2024%
. ¢
1) 3uz
1) TEORD [ oo, eTETEIRW
1) &c-ir;:wﬁcmréa
TRITN &:)D"QEJCQ OTR08 1-4-20233:
3
C)'T'v.) W2 CI0o3R,cT[ETeR
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& 10% 17‘06 20.

E‘

2

48081

‘bJJ >) goTany

L33
-t -
w;’;m?& 353> FoTaI0D
o )

on.
60,00,000
72,00,000
24,00,000
4,880,000

24,00,000
6,00,000
2,40,000

1,00,000
1,20,000

geanent 10% 00 LBRETTTEINY
:a‘::a’;»onw SANY aR0 WP Hoed I H30.
AD0ld O BoTACDIT B3 YN afaoéoia-"ig( 2WTNATZT. ITO BPSODI)

ZodeeNa, ©rreds CANY Fpews) (UZE3) FoTany 50, 2013 d

zod™, 1l O T30 wiowo.

i)  desr a:’ao (oo 3ed)
i) W ocs =B m—ad sz (Twee 239)

Rs.
1,75,000
50,000

Nu() &R0D &i)eti T E:L.zi-‘d BRICDTTNR ARTY SN o - 20,000

WY IRFT *ass@
iii) em:-mdé = ai:ocs (90 THY

IO Q‘BNOSJ 2303 BT IR T n!D%Oindf Nﬁﬁ@ 3R "?ﬁci)

30 STHFT ReITP
iv) measodaed, s WFRT (IR U3S)

5,000
60,000
10,000
4,000
8,00,000

25380 390 IRFS BRI0DITA TTFP 3RO mﬁdoa

(RTO SAOD oedd)
30 TTFT ITJT?

5,00,000
1,25,000
[P.T.O.
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SECTION - D
oo - 8
IV Compulsory question. (1%15=15)
B@od =T
o) o

1. A company made a public issue of 2,00,000 equity shares of Rs.10 each at a
premium of Rs.2 per share. The entire issue was underwritten by the underwriters
L. M. N and O in the ratio of 4:3:2:1 respectively with the provision of firm
underwriting of 5,000, 4,000, 2,000 and 2,000 shares respectively.

The company received application for 1,50,000 shares (excluding firm
underwriting) from public, out of which applications for 55,000, 40,000, 42,000
and 8,000 shares were marked in favour of L, M, N and O respectively.

Calculate the liability of each underwriter as regards the number of shares to be
taken up assuming that:

Case- 1) The benefit of underwriting is given to the individual underwriter.
Case- ii) The benefit of underwriting is not given to the individual underwriter.

2CTY LODINE F0TAOL 10 Tr. ZwDuSadd 2,00,000 JeoONIRY, MW WATG

VENE SRET. BoTACD Qe aedm%o LMN X2 O msﬁ rbéﬁ &ra@;bw
LTOTTRTTY 4:3:2:1 ©TOTITE, f.raozzb@xae;w uwwdos_aad QT30 z:mér"
BeToToSTmTT woddmon 3 TWNROI 2.280Z23.

L 5,000, M 4,000, N 2,000 503 O 2,000 3e3orish. 80mR030 MEFHITO0T
w2 1,50,000 Zeoonen 23 o), BBOT (508, cﬁms—@’maioﬂsm BRTZD TR)

'&CJU@D 55, ()00 L 40,000 M, 42 000 N ms; 8,000 Jetonsd N mdo&mf:o
TRODZ.

L

TMmEY FE IR AN MHIRmOS i), TREMOTDY, B NS T,70
FOTRO&E0W00. '

i) X=ox ('b&.a L.JO?L)OU WD TBRTEMOT.

i1) ~o~ &30 3, 540303, 2D, WTIT TBREBMOE.
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Q. P. Code:126BCMO3XXXDSCO8T

Reg No J

B.Com . 11l Semester (NEP Regular) Examination, Feb/March -2025

Subject: Corporate Accounting

Duration of Paper: 2 Hrs. Maximum Marks :60

Instruction to the Candidate:
1) Atempt all the section as per the internal choice

2) Usc of sumplc non programing calculator is allowed

3) Section D case study is compulsory
Section -A

2ot -9
1) Answer any five of the following questions
FYNAI PN, 3¢50 0o I8, A9 ev3d DAID
a)  What is underwriting of shares?
Jeoone! wéd, A IR TRV 2,8,08 O3,
b) What do you mean by marked applications.
MI3AT HBF MY DO,
c) What 1s profit prior to incorporation.
RACOTID FPZ[FT L3 OB,
d)  What s right issue of a share.
JON BB,& II0EB D0TBBER..
¢) Mention two types of goodwill.
B3CIF T3 DT FTONY, 3PLR.
) Give the meaning of tangible assets,
3P 3T BANY ITFTI), RO,
g) Write any two objective of financial statcments.
HLATOAR OO, 00D DT W LINFS), 2TAID.
Section -B
dIon -
Answer any three of the following (3x5=15)
FVNAIYAVE). 3e500 3 BB,AONR en3 DD
2) Vaibhavi Ltd issued 1,00,000 equity shares of Rs. 10/- each. The whole of the issue
was underwritten as following
A-40% , R-30% and K-30%
The application received by the company were for 80,000 shares in all, out of which
Marked applications received as follows
A =20.,000, R-8.500 and K-6,500 shares
Determine the habihty of underwriters.
F,23¢) DI TOTIOD G 10/- D 23e3ad 1,00,000 3COINFI,
NG IPRX), Jeoiny wd,f MR Bavh.s Wl o8y & YN0,
A- 40%, R-30% 03 K-30%
TOTIOD 2.8dy, 80,000 tonPn eReneh 2.7 IReodE), BRYNYE).
rhohsxel, (MENRcets =Ng) BRoDDE IRy e9®eneh s
FYNT03.

(5x2=10)
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3)

4)

5)

0)

0. . Code:126BCMO3XXXDSCo8y

A -20,000, R-8,500 &3y, K-6,500

SO da3vriadpodN 23,1 3R oY) 53 3 Roa00 BABIMDTE 0N,
ForR)db oD,

From the following information of Shankar Co. Ltd. calculate the goodwill at three ycars
Purchase of the average profits of the past 4 years.

L Yer [ Preft Weights |
‘r 2021 " 50,000 I '
?, 2022 | 64,000 1 2

1 2023 80,000 3 |
i 2024 ; 1,00,000 4

Calculate the value of goodwill under weighted average profit method.

S TYR QD03 030 F0. 0NN B0 30d) B0 St YT 4
SHFAY TOIRD CaIne'ay, JIONBA 3 JIRrry wOdohod HTosh
33,5030

[ SIAF i e | 307 ]
2021 | 50,000 | 1 '
2022 64,000 2
2023 80,000 3
2024 1.00,000 4

ANO9AD IRTE PNy IHes’E SER0E &t oehd LIS RIS
TOBIBAND.

What is sales ratio? Give examples of expenses which are allocated on the basis of Sales
ratio.

390EITS IRNTOI DOTWBERI? T3R0S 9T 3E0E sfe3 B[O E
B3 d?juﬁvabﬂl 3P0,
Discuss the need for valuation of shares.

FOINY 23500),530 B 9333303, T30,

From the following information prepare statement of profit and loss as per
Pant-Il of Revised Schedule 111 for the year ending 31.03.2024

a) _Revenue from operating activities Rs. 25,00,000
b) Other income Rs. 1.00.000
¢) Total expenses Rs. 20,00.000
d) Tax expenses Rs. 50,000

& TYNT 30 3030001 w023 Ja,, BE3,00™, 2o Il BEex Il 3 &yFod
3O3RDA.

1) 83;835000 FENTEITALOT e300 | 8. 25,00,000
b) BIT 30D OR. 1,00,000
¢) W, 33, 0. 20,00,000
d) 30n 223, 0. 50,000

2
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Scetion-C

23N -

Answer any two of the following 2x10=20

FYNSFrie’e), 3w 2 Z8,1On ew3 DAD

Ram Co. Ltd 1ssued 2.00,000 equity shares. The whole issuc was underwritten as follows
Ramesh - 30", Malatesh-20%  Suresh-50%

The application received by the company were for 1,20.000 shares in all. The details of
Marked application out of the application received 1s as follows.

Ramesh- 50.000 Malatesh -40.000  Suresh- 10,000

The remaining applications for the 20,000 shares did not bear the stamp of any Underwriter
determine the Net liability of each under writers.

Ol B0, Doheddad 2,00,000 ARER; SCCIMFRD, LRI 2370830390
0TI 2eTa. FETIRFRY, 283,18 H 3R BRFLES 8,00 &4 FYNS03E3.
Cad -30% 3w 3t3-20% RI0(3-50%

20597 TSFEIF00E 1,20,000 SeCHNMN 9o 3T WORTIZT.
eo30e)  MSIZReL), IOMY  JP[C B8 FINS08xT (M3 NRess
R0 3)/a309T30D, BRODTIEI BCTIND)

0a303-50,000 [30e>3¢Z- 40,000 =HTE¢3- 10,000

VOGS 20,000 FeTIRY €922F ey O3eyE3E MTIZINF), BROBTIIHDQ)..
O IBo@BRPos Wl haR  Bewes mMarmedd
25393, D0NT, ATFOAD.

Following particulars are available in respect of Dilip Ltd.

a) Profitof 3 years : 2020-21  Rs. 45,000

2021-22 Rs. 55,000
2022-23 Rs.60,000

b) Average capital employed in business Rs. 4,00,000

¢) Normal Rate of return is 8%

d) The profit included non-recurring income on an average basis of Rs. 10,000

¢) Present value of annuity of Rs. 1 over 5 years at 10% is Rs. 3.78
Compute the value of goodwill under the following methods

a) Four years purchase of super profit

b) Annity method.

¢) Caputalization of super profit.
S BYND 73938 BT D0HeN I FOBIN B0W0ReE3, ),

a) ZHe0) STFNY evgd:  2020-21 8. 45,000

2021-22 Ow. 55,000
2022-23 Ow. 60,000

b) @osERCEE). BART PR AUIAD WOTIOY CR. 4,00,000

) TR 8T W0 -8%

d) 2.8, en3re), Q0030 5 HJ0EIFINE ©aded ATIRD

305900 &ote3 Be. 10,000 2¥RPORT.
o) DIFTRSE TOAFT &P R 18, 5 [RENPT 10% 803 B 3.78
B0 3.

ZYAR ORI 305000 ehte e39;50900 3€3FaSiPe);a3:), TORIDRAND.

1) 4 SIFNY DOLBOD FATT* R 353000 03

2) TOAFT PG/ &SP TIT IF,3 D3I,

3) WOBTRPFOHRT IZATO* 93 V3,303 35000 .

3
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Calculate the fair value a share of M/s Girish Ltd. The following 15 the balance sheet

ason 31.03.2023,
!-4,;‘_“,“ Particular

1) _Equity & Liabilitics

1. Sharcholders funds

SN T3 R VT R T

—_—

‘ I
. =l e
1 7.00.000 |

a. Share capital |
b. Reserve and surplus 2 100,000 ~8,00,000 i
2. Non- current Liabilities
Long term Borrowings 3 1,00,000 ;7
3. Current Liabilities | 50,000
Total equity & liabilities 9,50,000
IT) Assets
1. Non -current asscts
| Tangible fixed asscts 5 E 9.50,000
Total Asscts B Fo“.so.ooﬂ d
\1
Note to accounts
Note 1. Share Capital i
2000, 15% preference share of Rs, 100/- each fully paid up 2,00,000
5000 equity shares of Rs 100/- each fully paid up 5,00,000
Share capital 7,00,000
Note-2. Reserves & surplus.
Reserves & Surplus. 150,000
Less: Discount on issue of Shares (50,000)
Reserve & surplus 100,000
Note- 3 Long term borrowings
10% debentures 100,000
Long term borrowings 100,000
Note -4 Current Liabilities AP
Creditors 50,000
Current Liabilities 50,000
Note -5 Tangible Assets
Sundry assets 9.50,000
Tangible assets 9,50,000

Additional information
1) Normal Rate of return is 15 %
2) Average profit before tax Rs. 4,00,000
3) Rate of tax 32.5%
4) Transfer to reserve is Rs 20,000 per year

& Scanned with OKEN Scanner
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5900 &3 NDLoe

5 3,3 . 31-03-2023

F0. N0NNIT 30INY TPO;e3,

Bebniels 41 Sectdh D3, | wid,
~o.
) 8O Lok & BABMDT
1) Btdr30d0 AB
&5 J\CJ WOBTIY 1 700,000
AR MM SPIA] 2 100,000 | 800,000
2) W), es»cms BRBMDBMNY
B(ER5D 0D . 3 100,000
| 3) wac’) BPBMDIAW 4 50,000
|
i wéd), B3¢0 wodTeY & BABMOIAY) 9,50,000
1) e neh
i 1) za'ae'J ey 3 €32 e
\_ ‘ 2{5)35 A~ C UN H%’.) 5 9,50,000
ué&a_, esR, A 950,000
eia' e 8a 80D dIJOND
 3,03- 1 8¢ woBTOY
2000, 15% @RI, G 3tcineh 8 O 33 Be. 100 Bo3
ZRCOFTOTI DT 200,000
5000, 0.0, 100 a3 BSod FeRF HIII0TRE AT,
3eoonsh) 5,00,000
B3¢0y woRdwY 700,000
83,08 -2 NtRe & 50
cf).)fmc).) & 3 150,000
Less: 30Ny EOS BB (50,000)
| cDETEN & eI 100,000
833,03 - 3 DCTF=D mooned
10% AROTI N 1,00,000
| DeFr3Dod Teoneh 1,00,000
'deté 4 2306) BABMOFAD
| & ’?omCOJ 50,000
B 500, BABMOFALH 50,000
| éJw,,ca 5-23% 3.0 e33 ned
_gREgeAnY 9,50,000
P 3T AN 9,50,000

1) ol S0l 80 15%

2) 3018 [0 |0 ROIAD LP0I U .4,00,000

3) 30R @O0 32.5%

1) 33 TTF IEFO IO IMFdRdaE wRd 8w, 20,000

What do you mean by financial statements ? Explain its advantages & disadvantages .

X0e rs‘a?«:: 3 rieh D03¢D?
SO IO IO POINYR, JTIDAD.

eosHne’
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SECTION -D
Case study (compulsory questions ) (1X15=15)
ZTFOM U300 (3,08 J3,)
Progressive Ltd. was incorporated on 01-07-2022 to take over the business of Promotion Ltd.

. .

from 01-04-2022. The following was the statements of profit & loss for the year ending 31- f‘,
03-2023 b
, , fi)
| Particular ] B “Amount i §
| Gross profit - 8.00,000
| Expenses . %
Cost of sales | 5.20,000 -l]i;
Salarics 1.44.000 g
Directors fees 4.000 it
Interest on debentures 12,000 by
| Depreciation 16.000 Ji¥
| Office expenses | 48,000 1%
Printing & stationery ? 8.000 ‘ i
Rent & rates .‘ 7.200 &'
Commission on sales 32,000 {‘3
Audit fees 4,000 e
| Free samples 8,000 :-,\“o.-.
Bad debts 3.200 13
Formation expenses 4,000 }%‘
| Sundry expenses 1,600 8,12,000 c@".
Net loss (expenses — gross profit) 12000 ol |

Additional information

1) Bad debts upto 30-06-2022 were Rs. 800

2) Rent was paid at Rs 400 per month -

3) Sales up to 01-07-2022 amounted to Rs 3,20,000 & thereafter Rs. 4,80.000
Prepare statement showing profit or loss prior to & after incorporation. Give your opinion
regarding the results of the company.

FRIHAT® 0DHeNIeY) DT0T 01-07-2022 SO o, A, 83,3 . & FoTI3
TR AIIR D0DNITR, BTR0T 01-04-2022 BOW) DOCDAT. DTDF 31-03
2023 3, BARNNAY),S03 &8 TYNS e300 800D, LTBNIRAT.

R IBH ' RDe3

Wb, e 8,00,000
=3 nehH:

TR0} &3, 5,20,000

[eCh 1.44,000

ABFITT e, 4,000

O BINY SO W, 12,000

S5 16,000

T30 e, neHd 48,000

03 2 d), St ToehNe) 8,000

bR & oY) 7,200

SR04 SOS Ben® 32,000
| %, S03R(HF0 Do, _ | 40004
| 023 d 2132004 S3RED | #8000 )
200 BOT FROMY) Ll
| ROmREIR S, e | Aooo |

6
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B30T &3, N 1,600 812000
OB Y T (5323,N%) - 2y, €923 ) 12000,
FPTT 235020 N:

1) WIE 90 AN DO 30-06-2022 T, 8/0.800 HTIZT.
2) &8 30on%) kR G.400 Tos33035NGS .
3) DTP0T 01-07-2022 T, 35008} LT 03 00.3,20,000 VM
S0303 DINYE). Twe. 4,80,000 9313
O BOB3LODR FOBAAD SLLOTES TRBETI L0LY/SR, D3I,
SAEB S0ICE  /FR, BEI0NTY, I0WOAD. Horte FOBIOD
FOI0IT 27, D), PVTYONTR, SPAD. ’ /
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111 Semester B.Com. (NEP) Degree Examination,
December/January - 2024-25
BUSINESS STATISTICS (DSC)
(Regular/Repeater)

Time : 2 Hours , Maximum Marks : 60

Instructions to Candidates:
1)  All Sections are compulsory.

QTY, DWINNT 5:33@033.
2) Simple calculator is allowed.
A0Y Reagodos, wuTodReNTen BR=I8 /T.
3) Question No. 11 case study is compulsory.
a:jéq N0, 11 ;800 ©53030T 6{3%0&3&3?\53.

SECTION - A
QPN - D
Answer any Five of the following. (5%2=10)

Wevow BT, QU ORD.
I. a) Whatis AM?
RTORD 0TTE0 ?
b) Define histogram.
&R O, Y, 539,859, QR0.
c¢) What do you mean by quartile deviation ?
BTF DBOT 0TV 0T 3PDTIND 2
d) State the meaning of permutation.
8,5003RewICD BFPF S9D.
e) What is scatter diagram ?
WI0T Y Q0TTEW ?
f)  Define base period.
TWTO ST T,27,D0.
g) If X=4,N=7, find Tx.
X=4,N=7, find ¥x 3owo&WBOWO.

[P.T.O.
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SECTION - B
AWON - W
Answer any Three of the following. (3x5=15)
tdess :nf-:da; YUZOX0.

2. Define skewness ? Explain types of skewness.
3,85 3,553,040, [ITIC T,50NYRY, _asa:uo.
3. Find mean and mode for the following data.

-
—_—
=

.

YEOE TZ2033 TTEHO WD) WRIVT F0mR0HIOND.

<

Class: 0-9 10-19 20-29 30-39 40-49
TMFoST :
Frequency: 5 10 15 11 7
T

4. Compute M.D from median
peprde) @?ﬁ@?&'ccaa’i BT, 080T FOEY HLBOWD.

Class: 0-10 10-20 - 20-30 30-40 40-50 50-60
SMOF 0BT

Frequency: 6 5 8 15 7 6
SR

5. An urn contains 8 white and 3 red balls. If two balls are drawn at random, find the
probablility that (i) both are white (ii) both are red.

LoDy TR 8§ wWe I 3 Foy BomonvR) werieoRs. Q‘@Cﬁo%ﬁmh QTTO
EORNYE) TRT Snoon (1) 0R W9 (i) AT o), WOBIN VTS mcszsa’odo
mg:awz:msi FoR&LBOWD.

6.  From the following data calculate index number by simple aggregate method.

3980 TZoeTled ATV LD JRS00T [, 08 [0a500my B0 00,

Commodity: A B C D
Lol MK

Price in 1980 (Rs.) 162 256 257 132
1980 © 3¢

Price in 1981 (Rs.) 171 164 189 145

1981 © ue

& Scanned with OKEN Scanner
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9

SECTION - C
SR - R
Answer any Two of the following. (2x10=20)
yems adm% VS OO,
Consider the following data, calculate mean and median

—

= 39E03E S=os = N
Si SYE0R TT203 [WOMNLd0. Roomd =) a‘n“@soﬁ FOTIEEI0AW0.

Class: 0-10 10-20 20-30 30-40 40-50 50-60 60-70
W®NOFOST:

Frequency: 8 12 10 8 3 2 i
tja‘c)%:

Calculate Laspeyre's and Paasche's indices for the following data.

Z Y50 U@osa; GDAODT B m‘séwdsd mzanos cfadzsad 2[N&O.
-0 (5] pry p) )

Base year * Current year
BPO  JIRF T8I JRF
Commodity Price Quantity Price Quantity
[OBO s 25,5089 Alo] 0,0
A 6.5 500 10.8. 560
B 2.8 124 2.9 148
C 4.7 69 8.2 78
D 10.9 38 13.4 24
E 8.6 49 10.8 27

Compute Karl Pearson's co-efficient of correlater, between advertising expenses and
sales from the following data.

39808 TZ20300T FUE LODTITT FBHOWOG MOFFIOTRTY, WkeTIBD 330, 0B
INoLT TG, AN FowopHos TFIT BP0,

Ads. exps (R;.); 30 65 62 90 82 75 25 98 36

(Rs. in lakhs)

bt 5, (0R.)

Sales (Rs.) : 47 53 58 86 62 68 60 91 51

(Rs. in lakhs)

Snootd (CR.)

[P.T.O.
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10,

11

Four cards are drawn at random from a pack of 52 cards. Find the probability that:
LOTR VA TEF 0T 035233 23 Bemo N o0y, LUNYEY, Srodbwped. FYIOn
ISIATA NI W S Tote \IIIFON - Yo u Yo )
a)  Two are King's and two are aces.

VD T WD, WD X Sljlescng
b)  All are Diamonds

SN %:powi SNTSS.

SECTION - D
AP - B
Compulsory question (Case Study) (1x15=15)
T,300 e¢ oS (mrao.n ma’)
For two ﬁrms A and B the followm0 information is available.
A 2 B 707 ﬁvr’ TOWORATOE, FYF0E BN 0 DTOIT.
Firm-A Firm-B

No. of wages earners 550 650

E2RY TEoIOTZT 05, )
Average monthly wages ('00 Rs.) 50 45 :
sone IoEmo 82O ('00 Rs.)

S.D of wages ('00 Rs.) Joo V120

ERO0D QoD BeF ('00 Rs.)
Answer the following questions with justification:
BYS0R T, NON BAesses DedZY SuZOR0.
a)  Which firm A or B pays larger amount as monthly wages ?
CIRT XoX A e3me B SuE 3033 309 gonen QeBT 2
b) In which ﬁrm Aor B, is oreater vanablllty in individual wages ?
eviping ~o~ A €30 B o Fo0ss gndain &8, 08 00233 udmdmﬁmvwwd ?
¢) What are the measures of
1)  average Monthly wages
11)  S.D in the distribution of individuals wages of all workers in the two firms
taken together?
O No,)mf FOTMOTTC 3R JOneRmIN 23 39308 odnz 8,30ny uri 3920.
1) No::m on¥ 3R
i) oDz 8ed IITBoH NI B¥eF (S.D)
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RegNo [ [ [ [[[TTTTIT]

8) Calculate karl pearson’s cocfTicient of correlation for the following data.

[Price: 10 12 [13 [ 12 [16 15 18 ]

.. Demand: | 40 38 43 45 137 43 50
B.COM 11 Semester (NEP Regular) Examination, Feb/March -2025 9) Imulale L]nspech's Paasche's, Mlarslmll-Ed;lewonhs and Fisher's price index numbcrsTorl
Subject: Business Statistics 2006.
Duration of Paper: 2 Hrs. Maximum Marks : 60 Item 2005 basc year 2006 current year
Instruchion to the Candidate: 1)All sections are compulsory. Price Quantity price Quantity
2) Answer all questions according to intemnal choice. A 10 12 12 15
3)Working steps should be mentioned. B 7 15 6 20
4) Simple calculator is allowed. C 5 24 9 20
D 16 5 14 5

5)Question No. 11 case study compulsory.
¥ P v 10) a) If Ex2 = 74 and E(x)=5, then find sd(x)

b) A bag contains 5 white balls and 4 red balls. Three balls are drawn randomly from the

SECTION-A
1) Answer five of the following (5x2=10) bag. Find the probability that.
a) Define business statisties i) All the balls are red balls.
b) If £=10 and ¢=2, then find coefTicient of variation i) At lcast one of the drawn balls is red ball.
¢) When A and B are independent events if A=0.7 and P(B) =0.3, find P(AnB). SECTION-D 1X15=15
d) Wnlte any rwo uses of index number. Case study (compulsory)
¢) What 1s negative correlation? 11) Following data represent life of two models of refrigerators A and B.
f) Wnte two properties of mean Life (in years) Refrigerators
2) Define mode? Model A Model B
SECTION-B Ej ?2 g?
Answer three of the following (3x58=15) 2-6 5 T
2) Calculate mean for the following data. 68 07 2(_]
[cr [10-20 [ 20-30 T3040 [ 40-50 [ 50-60 ] 60-70 | 8-10 05 08
[F: [4 [7 [16 [20 [15 [8 ] 10-12 04 0l
3) Caleulate mean deviation from mode for the following data Now as statistician, you can advise to find about the following.
[v: 8 10 [ 12 [1a 16 18 20 ] a) Which model has grecter life span?
[F 3 10 |15 [21 7 6 3 | b) Which model has greater uniformity?
4) Compute regression equation of v on x for the following data. ¢) Which model do you recommend for buying?
[x: [2 4 s 6 [s ]
Ly B 12 10 8 [7 5 ]
S) Calculate consumer price index number for the following data.
Commodity Base year Current year price
Price quantity
A 6 50 10
B 2 100 2
C 4 60 5
D 10 80 12
E 8 40 12
6) For a binomial distnbution mean=3 and vanance =2, then find p(x=1).
SECTION-C
Answer any two of the following . (2x10=20)
7) Calculate Bowley's coeflicient of skewness for the following data
[ci | 10-20 [ 2030 [ 3040 [ 40-50 50-60 [ 60-70 ]
[F Is |10 [1s | 20 10 |10 |
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6) .05 DIBRL S3dEoh RoexD 3 &I Do 2 en3d PiX=1) d
Be3ahy, TOB o000
Instruction to the Candidate: Son-¥ 2x10=20
1) DET, edZIONNE) FTTE,00 23e500 0B FB,ndn 3 DAD.
2) 30303 esad,RROTO0RFRN SR, FJnon eo3DAD 7) YN TR, W 0P JFhIab R0z, Fo) HRAND
3) DREIS BOINFR, KOCIPA FRBA =ne. [10-20  [20-30 30-40 [ 40-50 50-60 60-70
4) FOC MeTCHOI VRCIAMTLD D3 Ele] o33 |5 |10 15 20 10 10
5) T, -il HTOW 223, 0D 23,00eNE. 8) TYNS TR T, TOOFDOPTAT =3 RBR00G NE0FTIIN g0 HRAND.
( (33 10 12 13 12 16 15 [18
Szer- © [Bc@s. |40 38 43 45 37 43 |'s0
) B oTF, 3 DAD. (5x2=10) 9) 2006 3¢ IRF T, SR OO0, TFOD, SRIF - DETIFE DI, DR
3) ;30T KOSITORT ;535 ALDD 363 Rp2F0;08 ROBNFR, FOD HRAND.
b) £-105H3) 0 = 2 AT D22 ME0FER,; FOW) oA, l’ Soocnehd 2005 2006 j
) A D3I B Q0 X303 Se33niwamien P(A)=07 a3, P(B)=0.3 338 P(AnB S IIF Bym),3 IRE
cHT, TOTHBAWD.
d) BP0 030D DO EO3AINAY, 392 33 =)0 3e3 )09
STTH3E.E ZOWOE QOTTI A 10 12 12 15 |
s . 0 B 7 15 5 20
i ;3:;;2553 rbtaoﬁraﬁ#a),, 3QA C s ) 9 20
e D 5 14 5
22390-2 3x5=15

16

10) ) EX=74 ort® EX=5 RT3 S.D(X) G 363 508 HDAND.
b5 D9 THIy 480D Bo@nPdhE word Wtobond 3 2F0mIRYR,
32, 3TN SATB, TN FOACH I O3 20DAND.

1) [ . Wornwh 0T ForoneeNCIBE3.

TSnr_ 10-20 120-30_ 3040|4050 E@._ W SA0 Hornvd), 3, 1,08 F0F) tfors) AT,
(o3 14 7 116 J20 |15 8 dor-a

3) o N 9K, BEVTROT IO 3ODI, FOrIHRA0 3,800 953,00 (FT.0D 3

Bezod 3%, o3 DAD.
) 2on £etd, TP 30N0T 2o RDOH, FORISHAND

N

1X15=18
1) & FUNS T9,RTE). 0T TRED OEBc* A &3, B 0D 30500 ;T

F |4 0 15 lan 17 6 3 o, (SAFMY)

— dcb,‘badté.'nd
4) ZUND TRE, X TSNS Y T 20023 T XX B0 FORODAND
-~ T [ SeddbA |  s0dd aﬂ
x 12 [4 5 Je |8 n % [ = I =
v e 112w I8 ___ 1 [ 5 \ | >4 1 T =
3) Borhes Do,V E, eSS, % 913,07 N0, DaFAD 26 [ 13 “
. I = E 6-8 | 07 20
| ‘ c:sz:ﬁ:t'j#;_:).:;if . B33 ITF 8-10 | 05 08
| monne  [@e ~Taoanm |89 i” 10-12 | 04 o |
A 1s = I I— 33 Lo, ROaRTOX; 09N & FYNI dFiabriv wA, ARnFOTFS de00
e s - T 2 SO0 A shd, SRCD B abd), AIREHCH AT Bexa A
C — la e b) ol ARTO B 2,03 Bp0b3?
™ lwo ~ 1m0 o w o) oD SRED EAV,OF Ko dRd0?
e 18 la
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Reg No l

B.Com/BBA 111 Semester (NEP Regular) Examination, Feb/March -2025
Subject: Generic English — (AECC)

Text: Chandalika

Duration of Paper: 2 Hrs. Maximum Marks :60

Instruction to the Candidate: Read the questions carefully, write answers legibly and clearly.

I)  Answer any Five of the following questions in a sentence or two : (5x2=10)
1) Who is Praknti ?
2) What does the monk teach Chandalika?
3) How does the mother worn Prakriti ?
4) Who is the mother of Chandalika?
5) Where did the monk meet Prakriti ?
6) What did Prakriti see in the mirror ?
7) Why did Prakriti belicve that she is not equal to other humans ?
11) Answer any Two of the following questions : (2x5=10)
1) Anand
2) Mother of Prakriti
3) Song of Buddhist Monk
111) A) Analyze the spiritual re-birth of Prakriti in Tagore’s play ‘Chandalika’ . (1x10=10)
OR
B) Sketch the character of Prakriti ,
IV) Write short notes on any Two of the following: (2x5=10)
1) Swami Vivekananda’s message on ‘The Hindu-religion’
2) Gandhi’s address on Quit India
3) 1 have a Dream by Martin Luther King Jr.
V) a) Write a note on presentation skills . (1x5=5)
OR
b) Explain in a paragraph of the below pie chart which shows the sale of different fruits in a

— I _

day in a shop.

I
| m B 30% Banana |
m i i

20% Others |
| X 15% Orange
i 10% Grapes
u 3rd Qtr

n 0

OR
¢) Write a note on body language in presentation.
vI) a) Explain Descriptive writing. (1x5=5)
OR.
b) Write an essay on ‘International Yoga Day’ celebrated at your college.
OR
¢) Discuss the main features of reflective writing. .
VII) a) Write a letter of enquiry to the manager of the restaurant seeking information about  (1x5=5)
the availability of food.
OR
1
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b) Write a letter of complaint to the Municipal Commissioner to take necessary actions

regarding irregular supply of water in your colony.
OR

c) Prepare your resume for the post of a ‘Manager’ in a reputed bank.
VIII) a) Draft an advertisement copy for the sale of smart watches highlighting the unique

features.

(1x5=5)

OR

b) Write a product manual on ‘Desk Top Computer.’
OR

C) Draft brochure format for the ‘State Level Conference’ in your college highlighting
the name of the host college, topic, date, entrance fees, facilities, chief guest etc.

@’
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Q. P. Code: 126BCMO3LANAECS5T

Reg No

B.Com III Semester (NEP Regular) Examination, Feb/March-2025
LROD : B3RYT TR0
WEO_ T WRIT

Duration of Paper: 2 Hrs. Maximum Marks :60

Instruction to the Candidate: 2308 &0 3), WOBE DN NS TRBTMIHT.

B).1) DB, teszeRoh BeoBabhR, FRy3 TomIens or,Sohd), 10

WIBFA.
(Z]lnip)
"AEI WOR) BIBE T3 WONRAT 938 JOTOROD IWFONFRN,
JE3CFAD.
©).2)  "TOIE) TOOIVED' Fe)IOR AD TR 5313, BRDA. 10
eoriIe

'B3ea8 BOTMHTIE) 363’ DV &, BR;a37, 2323ED.
©).3) o) BDNOHBE R FISHE),  DNCHT  eo03con 10
LATTRYI), ADTFI FadoN ITDAD.
(ElatnoR
WRD Ioeady TE, WODAT AL ARTREET D03 FTOWINEODHTD
) 3TODAT WA, BN 7 323D,

Ty.d) TR0 eI TE'OH A ORsER, ACADA. 10
egdeIo
'3 WTE0 MBS Q0WITY, & 33,BT BN JySTODRIT ?
ABLAD.
FB.5 BeTor 0BT, 8T,08 230N, ,, (5X2=10)

a) 3.00. 23¢00)
b) =30

g FIF H3y, ToRd
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a)
b)
c)
d)

c)

£)

h)

)

»

Q. P. Code: 126BCMO3LANAECS5T

0T3¢ T EO, L3 DAD. (1X10=10)
TR 'Toad T30 Ty30oD e3FT MOF 035030 ?

OB, 3983,0) C30THT ?

Omahz® IOTO 9530 'TI0H0BS TeD'H 3R ol FBR, WOl ?

330D FAADAIT FE3F) 0350:HT) ?

'DeY DIEBNOHTE LR FAIOHID, OIPE FEPS IOTOIROT

30300 BRY,ONG ?

DNO. DO. TOWNFOD[TY T BEIoHID, odsaas

W)WV 0NROT IBTIFERORTT ?

eV

TRV 83,0 FF' O DR VA 035)Td ?
2323006 FYWT O3RH T AR, RITHT) ? \ 2
'e307) ODOTT NEFF’ DOT) 031953 LWROFIHTE FEI0HRD, FTOIIAT ?

TR BNETD, 9530 BRRY 03I ?
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